DIVISION WITH A REMAINDER (H - SET 4)

DIVISION WITH REMAINDER Rame:
Time: Score: y—
50) 23730 = 5 = 316) 34855 =+ 6 =
302 5394 =+ 10 = 571610 +4 =
303 13376 = 7 = 318) 11843 = 3 =
300) 1126 = 4 = 319) 18852 + 2 =
509 13157 = 3 = 3200 24539 = 8 =
3060 13773 = 6 = 321) 34572 =9 =
307 68024 = 9 = 322) 44208 = 10 =
308) 12192 = 7 = 323) 14743 +- 4 =
309 21046 = 5 = 324) 43453 + 9 =
3100 28588 = 3 = 3290 35106 = 6 =
51) 0928 = 0 — 3260 29871 + 3 =
312) 11411 =— 4 = 321 19113 =9 =
s13) 23054 + 3 = 289 2495 + 1 =
51 75093 = 9 = 3200 51940 = 8 =
s15) 730+ 1 = 330) 50334 + 8 =
Mathematics: Division - Level T - Horizontal - Set 4 12 cul
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